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IV Semester 3 Yr. LL.B./VIIl Semester 5 Yr. B.A. LL.B./B.B.A. LL.B.
Examination, June/July 2018
CLINICAL COURSE - Il : ALTERNATIVE DISPUTE RESOLUTION SYSTEMS
(Old & New Batch)

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Question No. 9 and any five of the remaining.
2. Qustion No. 9 carries 15 marks and the remaining question
carries 9 marks each.

. Answers should be written either in English or Kannada
completely.
st T ) W30 Tone NPT OINRTTAR 5 ggﬁ@ﬁ
DA.
. B39 § 15 Losned wod Bs FIor 9 wosntd,
. QZTNIY RoTREOFTON [ONLR® ST a‘q‘a’dcﬁme
WBoDLIER.

What is Adversarial System ? Explain its advantages and
disadvantages.

ZeBEcoD TGS FoTTeD 9 STV SEROS D) STORBRUINTI
DTOR.

Explain the need for alternative dispute resolution.
BoIRFOD DT Vearodd THSD SNZINIZ), I[OX.

State the procedure for the appointment of an arbitrator.
ai:z;gz‘émdzd SeBE IERTID, SRR

What is conciliation ? Discuss the law relating to appointment
and removal of conciliators. '

o3 2oBdeR> 7 Romamtd S =8y IrchmEnTD
RO 3R,

Discuss in detail the different phases of Negotiation.
SROROTO[E G BOSNID, QDTN WBFA.
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Q. No. 6. Define Award. State the circumstances under which an
arbitration can be modified and cancelled ? Marks : 9
0SeTr ) TOLRRR. OINEE ROTIFNYE a)éewrab WEDOVRLITBITD
S8 o S ?

. Explain the essential characteristics and role of a mediator. Marks : 9
docgn;mda' @f&mrwaig( Ty mgddl QTOR.

. Explain the provisions relating to Lok-Adalat.
BT TYOWPOIE, FowWoRRTS w&’wodmfg QTOXD.

. Solve any two of the following problems : Marks : 7%2x2=15 r
BINT CORJYTTTR QB FBRNOR YuSoN :

(a) ‘A’ has assaulted ‘B’. Later ‘A’ and ‘B’ wants to compromise
their case before Lok-Adalat. Decide the validity of
comprise

' ‘WS DS TY BRI, [0 ‘@’ IR ‘W pes®
BTROST [VOT B3 aoojo AR ooz a’m@mdo?d £=2]
TR0 NURRFBIODR) adraw

Ramlal and Mafatlal have entered into an arbitration
agreement as part of the main contract A dispute arose
between them. Before the dispute could be referred
to arbitration, Ramlal dies. Decide the validity of the
agreement. :

TR RS YY) PSS faa%d:a WOT OGP RMOT
(arbitration) 2.BoasR 2002), FTOIRODT a“;ﬁ’mdoaﬁd%abd
QDIT NPT 03T dod,omeiﬁ d&wod Soade
DORF RS T a:%raoz:bsaé abdmabi WBOWRTOD
NRLFBZOD),  AGFORD.

A P.W.D. contractor enters into arbitration agreement with
P.W.D. officials. They decided to appoint one Mr. Subba
Rao as an arbitrator. But he refuses. Decide the validity of
his appointment.

w), P.W.D. roérimoos, P.W.D. e050ndrodn Siganos
uwoa‘ﬁ 20T a:imzdosad &S . foawaoaw @owddab
ai,cj,m‘doah Jea3oz abacioand wcﬁd ée ,\omcma‘dddo
8038@@338 93 SeT80D mzﬁré@oﬂaa’o zodrme

g
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IV Semester 3 Yrs. LL.B/VIIl Semester 5 Yrs. B.A.LL.B./B.B.A.LL.B.
Examination, December 2017
CLINICAL COURSE -l ,
Alternate Dispute Resolution Systems (Old Batch)

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Question No. 9 and any five of the reraining.

2. Question No. 9 carries 15 marks and the remaining
questions carry 9 marks each.

. Answers should be written either in English or
Kannada completely.

. B3 9 Ry eusdr Tone KOs oIRRFYTTTR 5 FBRER LLSORD.

§ E':J’)E; 9§ 15 e08nsd R Sivagiost) sgsqﬁ@ﬁ 9 508N,

. &UZTRYRy RoTPEarEIN BONGR' STT IIBEIe
wioowdeso.

. Explain the salient features of the Arbitration and Conciliation
Act, 1996. Marks :

SIRMOE Ty HogHS SGROHED, 19968 Ftnd vBENIR
QRO

. The role of the conciliator is the key for the success of conciliation —
Comment. Marks :

RGNS TZR) RoGOSA obBA7T TR0 &R, QESFRD.

. What is Negotiation ? Bring out the essentials of
Negotiation. Marks :

SROROTRT R0BTER ? ROROGRIR NI INTI) QWOD.

. When an application can be made to set aside arbitral.award ? Marks :
mqs:g D3eTF ), IQTTLD OIRE RoWIF TG, L3 TOTLIBOTD ?

. What is Mediation ? Explain the qualities of a mediator. Marks :
aﬁaz@ﬁ@moﬁ QOTTER ? a'bzgsm;mdﬁ noeand), QWOR.
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Q. No. 6. Explain the role of conciliator under the Family Courts
: Act, 1984. Marks : 9

FOLDOWE T, CIROCINY 0O, 19848R0DY, ROTRITTI
YT, DTORO. .

Briefly discuss the grounds for challenging the appointment of an
arbitrator. Marks : 9

abqsv,ﬁmmdzd(arbitrator) Seadomad o) gg:’od TOENIRD), Roggeon
W3e8F 0. ~

What are the advantages and disadvantages of mediation ? Marks : 9
mq,:,;mosom ORBHTI 0B STRBROINPID) ?

Solve any two of the following problems : Marks : 71/,x2=15
2INT CARYTTTR HOBD n’ﬁ:ﬁémﬁ SUZOA :
a) The Arbitral Tribunal denied equal opportunity to one of the

parties to arbitral proceedings and later passed an award.
Can this Award be challenged ? Decide.

mq%#@mbi asagodn@eﬁdm@, SRS SmIedodd (arbitration
proceedings), %), wimd:aﬁ TN H9SHT JTITOR s:@ra’»raigt
BRVARIT. Bs DSeTFI ggﬁwﬁde 9 AGFO0.

The Judge of the family Court referred a divorce before
mediation. The proceedings were held before mediation.
But one of the parties wants to settle his case before the
family court. Decide.

FroWE T 0IRONT saaéowa@esm WOTD SIB az.iedé
OTTTB), BOGRMWOTH SeROBB.  WOGRMOOE SEIeFOID
A® SECNT. BT B DT W), &’imdab FOOWT
W,IROEDTYoDE  VTII WABORORTE, BRI
QBFORD.

An Arbitration Tribunal passes an award and orders to pay
the cost of the arbitration in equal shares. But one of the
parties refuses to pay. Decide.

:bdﬁ@moi T, 0IRQETEY 08T BT I03T daqs’%mba"
B, RSRIToN WORKYTE, STIBRIJT, STT Lot TYWOD
3, 20080 DTIFORITS. JFFOR0.
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IV Semester 3 Yr. LL.B./VIll Semester 5 Yr. B.A.LL.B./B.B.A.LL.B.

Examination, June/July 2017
Clinical Course — Il : ALTERNATIVE DISPUTE RESOLUTION SYSTEMS

Duration : 2 Hours Max. Marks : 60

Instructions: 1. Answer Question No.9 andany five of the remaining.
2. Question No. 9 carries 15 marks and the remaining
questions carry 9 marks each.
. Answers should be written either in English or Kannada
completely.
B 9D, UBOR TONR YOVE CFYTOWAR S BB CUZOR.
. B 98 15 ot Gvos T3 JIert 9 wosned.
3. QUZTAYR) BoTREIF TN YO’ S5 TZEEYE WICIRI.

. Explain adversarial system of justice and state its advantages
and disadvantages.
TEBRAURZE T00 TERICIIY QWOR W) B0 BJBRO WO

(=] «

@&“Wua‘ = 9.

. Explain briefly the need for alternative Dispute Resolution
Systems.
RodBemoN QT ToIRF oD a‘dwéojo ENGINY), DWOR.

. Narrate the salient features of Arbitration and Conciliation Act.
:Socgimaé SR RBoGoNTOE F0VOD B0, @iimﬁ&:zig‘ EPR.

. Explain various types of Arbitration.
RFAMOID ING  BFORERY, D[OR..

. What is conciliation ? Give different types of conciliation.
TR R0T3E0 7 TOPORT ARG @’@dWQ QTIOR.

. Explain the qualities of a negotiator.
EROROTOTEOS MODUFLNTI) S9A.
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Q. No. 7. What is mediation ? Explain the mediation process.
SogiAmedE (mediation) 20T 7 WGAMOTOD  TH0S0HE,

o\ =
WWOA.

Q. No. 8. Discuss briefly about the appointment of an arbitrator.
GRMOCS Fe0T0D 2} Boggeen QTOR.

Q. No. 9. Solve any two of the following problems : Marks : 7V2x2
FINT CIRPTOTTR TR FSRNT Spctell

(a) Mr. Sanjay try to murder his cousin Venkatesh in order to
take away the money which Venkatesh had in his possession.
By this, Venkatesh was grievously hurt. His wife wants to
approach advocate Arun as an arbitrator.
ROWODR 3 TICIRD BoBedeBS wWe QAT BTN BB
RS BIRFLO EROTI. QTBOOD B[oTEIeTIY  &ew,wol

28

MODRRNZS. $B3 SoWHOK TV 0PRR) SOGANOTIN
i

= o

Lmdﬁ?fa SERRFIRLY BRETIZY.

Mr. A was appointed to act as the conciliator regarding the
dispute between Radika Transports Company and its
employees. Later he settled the disputes between them
through conciliation, he calls for a press conference and
disclose all details with the press people. Whether A’s action
is valid ? Decide.

0% TOR FoWINR ©EC JBOONR QORI DTTIW,
WRBORFTHRN e. ‘o' o) RoroIE0IN ACINIRVAIZT.
ROTORRRY IBE  ToIT ‘W 0D [RG ZEQnY xYI
SBC0Y DR, VFTNYSR, Lo YRS, ‘T TR DY
u@mﬂdcﬁoe aowdc'ig\ NFFOR0.

There was a dispute between Munshi Ram and Banwari Lal.
They appoint Mr. A, B and C as the arbitrators. They give the
award signed only by Mr. A and Mr. B. Will the arbitration
award be valid ?

Boood T WY W0 'S JRW AT, DOWEI,
WABORE BN ‘W, ‘W By ‘0, dvd:gprvoddaa_\h
SRz, BB Swedd wITR Fed DSETFDY, AT
©0E09 ‘@ R ‘W B Do T, B8 RSP AOGIE 7
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DO 0416/0816

IV Semester 3 Year LL.B./VIll Semester 5 Year B.A. LL.B/B.B.A. LL..B.
Examination, December 2016
CLINICAL COURSE - II
Alternate Disputes Resolution Systems

Duration : 2 Hours Max. Marks : 60

Instructions: 1. Answer Q. No. 9 and any five of the remaining.
2. Q. No. 9 carries 15 marks and the remaining questions
carry 9 marks each.

3. Answers should be written either in English or Kannada
completely.

. ©39 Fil SUZOR TR YT cdnRPwerde 5 [Inert SUZOR.
. B 9% 15 ©ognsh. e B3 TINor 9 o3k,
3. U0, WoTFpeoron BoNew® P IRWRSE wdodedesd.
Marks : Sx5=45

. What is arbitration award ? Narrate the essentials of an arbitration
award.
RSCJF NOTTER> ? BT wdz%ameﬁr{#aia DO

. Explain briefly conciliation under Arbitration and Conciliation Act.
:bqj,z’&mcé W0F) FogReS LRVCDVITARDY, FoeSMOFOD)
RodZaoN D[0XD.

whd
. Explain the phases of negotiation.

SROROTRTT TOSNT, DTOR.

. What are the models of mediation ?
TR NG a’dm;ﬂﬁﬂfﬁi QDTIOR.

. What is arbitration clause ? Explain how it differs from arbitration
agreement.
BOGRMOOF VTTTE, DOTBERO ? LT ROFANO WBOTEOY Fert

Jedo3nnd ?

. Explain the features of Arbitration and Conciliation Act.
DG IO [ FoGRs LHRIOILTT ROEIOBFANTR), DTOR.
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Q. No. 7. Who is a negotiator ? Explain the powers and qualities of a negotiator.
ERROFIT0I0RS iR ? &3S @RTRT [P rOHNYR) DO

Q. No. 8. Elucidate the factors responsible for the delay in the administration
of justice and the efforts to reform it.
T0N TWOTOTBODY, Vo QETTIT SFOWT TTEANTTD, MOTOER o2
c@w ¥ BOTRRINER LoD RO TIONTIY ,.):Som.

. Solve any two of the following problems : Marks : 7V2x2=15
FIBOBDNIOT 2T RN wriEds

a) In a dispute between Mr. A and B, ‘C’ will be appointed to act
as the arbitrator. Mr. C examined several witnesses and
documents and before giving the award declares that he
withdraws his consent to be the arbitrator. Whether C s act
is valid ?

V) daé_.g 2ORT IBIDD  WNTWE

:4(\3-3(\) wt/!/ *Jué’l \‘.}‘Jy w—;r,S"‘" Vc‘.\i f’%h)(.d (\)vud wdf:«-"r—
BT BRTED e’a: TOGAMRTTNTIR  LTIodT), S0t
TWeBoI0TS. A, mdoox:éom :,davadm ?

P o’ N
A0I erwmu%’bﬁ“

(vl
,..
og=d

Mr. Arun catches a thief who is found to have stolen gold
from his jewellery shop. He decides to handover the thief to
Mr. Varun who acts as an arbitrator. Can Varun decide this
case ?

33 S0 LonAeDY

‘j""«JA > WOTA nu\ uwuf\mj fo’.f: 573 2

8eoRath TS, [ARO B T

As there is a dispute between A and B, they decide to approach
C as the arbitrator. When the arbitration proceedings are going
on, both A and B come to a settlement. What is the position
of C now ? Decide.

T‘Jc."i)@d)w N*Duwffb : 133?:.2 ‘oD

35OQ,Q!m5cu:J-¢f\ RBITRBITT. WPAMROTON W,

o 2@
s — - 0%

:'JCEC:OJ_%UJET-.‘HQ/?

31 WGAMT
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IV Semester 3 Year LL.B./VHI Semester 5 Year B.A. LL.B. and
B.B.A,, LL.B. Examination, June/July 2016
Clinical Course — Il : ALTERNATE DISPUTE RESOLUTION SYSTEMS

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Q. No. 9 carries 15 marks and the remaining carry 9 marks
each.
3. Answers should be written either in English or Kannada
completely.

. What is adversarial system ? Explain its advantages and disadvantages.
Marks :
T30t TS 0T ? T3 BRI BTIRBACIAVE)
S30R0.

. What is arbitration agreement ? Explain its essential requirements.
Marks :

A8 B3 20306 ? LTt udRYY LI aors.

. How are conciliators appointed and what role does the conciliators
play under the Arbitration and Conciliation Act, 1996 ?

BGRE S0 RGOS LRI 19968 ~oz;aa\;>©aabr{¢ab Jert
éeem:?oaad &’b@b ROTRTRTS WIeBe 9

. Narrate the qualities and skills of a Negotiator.
TOROGRTETS ToLaried o) s’aa’c%ﬁsid.l QRORD.

. Whatis mediation ? Explain the advantages of mediation.

a:bz;gumcﬁ (mediation) 20@8e 9 &zﬁﬁmbﬂoja VTSR NI,
@darob

. Discuss the nature of conciliation proceeding under the Industrial
Dispute Act, 1947.

gmfm QRTINS OO (1947) BREDATORE BoeT TS
R, BRI, I3FRO.
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Q. No. 7. What are the functions of the “State Authority” under the Legal
Services Authorities Act, 1987 ? Marks : 9
PR A WOPT LEROIRD, 198778 ©REHQIS oY
cootalploiiga FODFRTIRID) ?

Q. No. 8. Write short notes on any two of the following : Marks : 4%x2=9
FINS BWesoT IOWE, OTO 633368 2BC0 -

(@) Mediation process
IGAT (mediation) Swoe?

(b) Qualities of a negotiator
9BOROGITITI ROEansd

(c) Qualifications of Arbitrators.
mqs%mdd IBF B3N

Q. No. 9. Solve any two of the following by giving reasons : Marks : 7¥ex2= 15
3INS st TERY Fo0ENTRoRR SVUZORD:

(a) ‘A’ is charged for abduction of ‘B'. Later ‘A’ and ‘B’ with a
free consent compromised before the court. Decide.
‘@’ Q0w [ ‘W DOLTBID), SBBORT VT,
geielevilgiantal e9 oy ‘W ‘addo o8 "eB000s éq
e;awcaddab o) cdRedE B0t ot aﬁm@m@d QFFORD.

The dispute between ‘A’ and ‘B’ is settled by ‘C’' a mediator
who is 17 years old. Decide the validity of settlement.

‘o DR ‘W IEDI mz:sdab ‘8’ oW 17 JRF do&:igs eS0T
dodwmo’md D203 00030 THZ3 ROGE B, QG ORO.

A dispute has arisen between ‘A’ and ‘B’ which is of a
contractual nature. A would like to seek an amicable
settlement of that dispute by conciliation. There is no
agreement for seeking an amicable settiement of the dispute
by conciliation. Advise ‘A’ with reasons.

‘e’ 303 ‘WS IS so0n ROLOGHDER), SNRT LTI, "¢’
Ao mEEty RomEE S0aeET AGFr DBRERYL
@z%ms esdd BoroRE BNWeI0 DT uﬁd&kﬂmﬁd uﬁ
cRTe WTEWRY ‘' QBT Rowog cdwer, FOT ae@a




NP 0416/0816

IV Semester 3 Year LL.B./ VIll Semester 5 Year
B.A, LL.B./B.B.A., LL.B. Examination, December 2015
Clinical Course - Il : A.D.R. SYSTEMS

Duration : 2 Hours Max. Marks : 60

Instructions: 1. Answer Q. No. 9 and any five of the remaining
questions.
2. Q. No. 9 carries 15 marks and the remaining carry
9 marks each.
3. Answers should be written either in English or
Kannadacompletely.

Explain the advantages of Adversarial method of administration
of Justice.

T3TBeoD MWD ATFIHDYT LR

3 ™M

Explain the salient features of the Arbitration and Conciliation
Act, 1996.

GRS %y Hogost LHRCHI, 1996 3 Foad vFsarteRy
QTORD.

What is conciliation ? Discuss the law relating to appointment
and removal of conciliators.

ROTOT Q0WBR 9 AoTRSE0T Feabr Ry Sricdh TBVFOD

-~ . oy @ oD
RODIONTD 2IF20.
=

Whatis Negotiation ? Bring out the essentials of Negotiation.

SROTOPRT 0T ? LAOTOSE SRS INIR DFoR0.
3 -
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Q. No. 5. Explain the differences between mediation and adjudication. Marks : 9
Rogead (mediation) =523 7,00 QeoF olg 200 FTHANTSES
WWORD.

Explain the role of conciliator under the Family Courts
Act, 1984. Marks : 9

FoLDOWT mwoo&:ﬁv 20D, 1984 @D
thﬁv ﬁar\)@

Explain the provisions relating to Lok-Adalat. Marks : 9
ISD mjvwc“*‘i RO e:‘o:ducdrﬁ#&’q‘ SZOXO.

Write short notes on any two of the following : Marks : 41/2x2=9
BINS CIRTTTEOR STEE, VT £3g9 WOCWO:
a) Arbitration agreement.

G ATOD 20T

b) Notice under Sec. 80 C.P.C.
O TS Bokd 30080 T wRDY, AR,

c) Definition of Mediation.
Rogesad (Mediation) 59,55,

Solve any two of the following by giving reasons : Marks : 71/,x2=15 __
N et QTBI, TTNTROON GUSORD:

a) ‘A’ has committed an offence of simple hurt against ‘B'. Later
‘A’ and ‘B' compromise the offence before the Lok Adalat.
Decide the validity of compromise
'R W S DTG W M BTTITER, SANT.

'R W a8 STRUT F008 & STRGT iR oo
TRRERS g:{; T3 TR0 waaif‘ézmtg NQFOAUD.




AT

b) Anindustrial dispute is pending before the conciliation officer.
The same dispute is referred to labour court by the appropriate
government. Decide the validity of reference.

B SeRBR) NS ©Hm00 Bod [ches.
ur"ccaﬁ@ ,\mf dﬁ*d:ﬂ TOROF Y TR, 0NUCIF

Husband has filed divorce petition against his wife before
Family Court. On the consent of both the parties the Family
Court passed divorce decree. Then the wife has filed an
appeal against the decree before High Court. Decide.
OLDOWE T, ‘*w&:ﬁq Wy R I T DT

LoD m“gp* Nméoja 2oesn a’i,sco °?,




IV Semester Three Year LL.BJVIll Semester Five Years B.A. LL.B./
B.B.A. LL.B. Examination, June/July 2015
ALTERNATIVE DISPUTE RESOLUTION SYSTEMS
(Clinical Course - Il) (Course - IV)

Duration : 2 Hours Max. Marks : 60

Instructions: 1. AnswerQ.No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 15 marks and the remaining questions
carry 9 marks each.

. Answers should be written either in English or Kannada
completely.
- FT 9 D FOY Tome NET CARITTR 05 YT
SO,
. T 9 15 coamsh v 3 I 9 o,
3. FOTD Togoesr N QONCTT eFe FTBEL 200200,
Q. No. 1. What is Alternative Dispute Resolution System ? Explain its
advantages and disadvantages. Marks : 9
TOIRFOD NIWOT VeI Tk 58 Q0T ? VT8 BRBRVE Tone
@@M@t:iﬁ#ﬁi WOR.

Explain the composition of arbitral tribunal.
DA T, cOEECD Te3odoR) QIOR.

The role of the conciliator is the key for the success of conciliation.
Discuss. Marks :

ROGRITI0S T RO oA TRV R, IR
— ~

Explain in detail the different phases of negotiation.

mogeme (Negotiation) a5 TOBNTRY, DTN VWO,
Q. No. 5. What is mediation ? Explain its essentials.
:';x:gig (Mediation) 2ozdesh 9 =m0 BB EENI HTOX
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Q. No. 6. What is lok-adalat ? Explain the advantages and disadvantages
of Lok-adalat. Marks : 9
HITD TW,OLROCL DOTITER 7 =[S

L dedn A mdP
@‘Jb&&@ﬁ/@l 53 "JJ WmOAD.

; Explain the role of conciliator under the Industrial Dispute Act 1947. Marks : 9

=0 1947 © »@cd momeawd (conciliator) &
—e

wbv

Q. No. 8. Write short note on any two of the following : Marks : 4'/2x2=9
NS Iems S0mE o0 X ou -l Mlelevvlols

%)

a) Mediation process
=ow A% (Mediation) Swese

b) Termination of conciliation

- [ S i o e ~
AT o B
AOEI0 w'§\)~;w .w,w..uvi

¢) Qualities of a negotiator.

STIROTORNTITH NMOLANTL.

Q. No. 9. Solve any two of the following problems. 1 7Y ox2=15

A e e by
NS W % 'v:.\.'k:"gl en ?fvéf) o}

a) ‘A’ is appointed as a sole arbitrator by ‘B’ and ‘C’ to settle
their dispute. ‘A’ and his wife invested in ‘B' s company. ‘A’
gives verdict in favour of ‘B'. 'C’ discovers this after two
months of the award. Can ‘C’' ask for setting aside of the




(TR 3

b) An apprentice-deed between a minor and his employer
contained an arbitration clause. Is the clause binding on the
minor ?

=) =3 5;?3 SR DodpenEs T, A0SR 2ol TTORY,
m,:':azs a&aoa'dogd. $=%) Joadmsﬁg wcp:m:g&

Banashree and Vanashree settle their dispute in the lok-
adalat. Lok-adalat passed award. Aftewards Banashree wants
to challenge the award. Advise.

3B FoB JIY,¢ TRY ITHTD
TORERWZT.

030 WIS, 000
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W R AR 0416/0816

IV Semester 3 Yrs. LL.B./VIIl Semester 5 Yrs. B.A. LL.B./B.B.A. LL.B.
Examination, December 2014
ALTERNATIVE DISPUTE RESOLUTION SYSTEMS (Clinical Course - )
(Course - 1V)

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2 Q. No. 9 carries 15 marks and the remaining questions
carry 9 marks each.
. Answer should be written either in English or Kannada
completely.
.38 9 ) SUBOR. TONR 9T CIRR)TTIR T géﬁs?ﬁ
eUZOR.
2. 3398 15 @0end wod B IR 9 208N%0.
3. oI, RoTPEIF TN BONCH® BT Saa:ddc?_, WB0W0.
(9x5=45)
Discuss the advantages and disadvantages of inquisitorial
system.
Sumdmbee Fgsch eRaus S smRRAUINR) 395

Explain the salient features of the Arbitration and Conciliation
Act, 1996.

a:bz;ﬁzsﬁamcé =) ROTRT LI, 19963 TB0D egsaﬁeda’%
QDOR.

Explain appointment of conciliators.
RORREITT JeTTSODT, DTOA.

Explain the different approaches to negotiation.
HSRROTRIT G amrm?;g Q@OA.
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Q. No.5. Explain the essential characteristic of a mediation process.
daqsm;mcﬁoﬁa Fodood SDRA @cér{#aig( QWOR.

Q. No.6. Explain the role of conciliator under the Family Courts
Act, 1984.

TOLVOWE T, CXPOONG DI, 198438009 Rorwasss
(conciliator) mgdaﬁi QTOX0.

Explain the provisions relating to Lok-adalat.
BIZD aaéodm)wog ooz wﬁwodﬁ#@( QTOR.

Write short note on any two of the following : (4%2x 2=9)
NS Wem add§ OF0 €359 LTOWO :
a) Quélifications of arbitrators
DFEMWTT B Srich
b) Definition of mediation
oo my
c) Powerto negotiate
SRS BNET 053

Q. No.9. Solve any two of the following problems : (7%2x2=15)
FINS et 5D AR rien SZOR0.

a) Smt. Manjula and Smt. Usha earned illegally Rs. 10,000/-. Both
Smt. Manjula and Smt. Usha wanted to settle the matter in the
Lok-Adalat. Advice.
S8 Rozovd R e wum PRRTNTELTTN ge. 10,000/
NI FoTORTT. Jeds oeows TR S Le B3 AROD
BT, BIB T,CAPODTY, WHF BnRERYD wE TR,
OB ..
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b) As perthe arbitration clause Smt. Laxmi and Smt. Netra submitted
their dispute to adjudicate in the arbitral tribunal. Arbitral tribunal
decide subject matter which was not reffered to arbitration.
Smt. Laxmi and Smt. Netra want to set-aside the award. Advice.
Jeds ©f, BT Sed Few, IR WMWY, WOHAT YUTT
EIBIMOENRION VEDF OVAED dadasgé 539,03 OB [0 AORZT.
S0 doc%fg 99,0 T3 307 AAATIE QONRD VRO s;’_gaﬂa"%

REOFOROT]T. Jeadd o3, Ty oIS e, B8 NIWER)
TOFLD WODRITYT. ROT AR,

"A" and "B" referred their dispute to mediation. Both "A" and "B’
insists mediator to adjudicate their dispute. Advice "A" and "B".
QT B W a’om:j?&é (mediation)r 33 BB AOATOZYT.
“@ BB W awpe IR I WopIFT (Mediator) ant
REFFORLD LIYCH BREIRT. ‘@7 DI “W’'R AT JeRD.
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Fourth Semester LL.B. 3 Years/VIll Semester 5 Years B.A. LL.B./B.B.A. LL.B.
Degree Examination, June/July 2014
Clinical Course — Il : ALTERNATE DISPUTE RESOLUTION SYSTEM

Duration : 2 Hours Max. Marks : 60

Instructions: 1. Answer allfive Questions.
QTR 0T :dﬁ::{ W\,c
. Figures to the rlght indicate marks.

W7 \C""“D‘ 908N wc,\:( ARWRDNT.

UNIT -1
Puw-|

Q. No. 1.(a) Explain in brief inquisitorial and adversarial system of justice. Marks :
BRRIZE ) TEBAWIYE T,00 THSODT AOFTTON VRO

ov) =< Al
OR/e&5m

"The need for finding alternatives arises due to the working
of the present system of administration of justice' — Bring
out the defects in the present system of administration of
justice.

‘TR T, 00T ST RBWAOD

Soprodnd Bre d» 303

BORO WD TR

Write short notes on :
RosT 563 WBoWD:
LD (X

Advantages of alternate dispute resolution system.

—f D ~ o
QNT SERNFD Wm o mgww&o EITOBROBNTD.

OR/ez;sm

Civil procedure code and alternative disputes resolution
system.

S s A R S 3 o A0S AR SR L Lt I
QR e.,_%/CuJD R0&S WD) Wk CJeF 0 W00 WA,
a9 ; -
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UNIT =1
pug-l

Q. No. 2.(a) Explain the process of appointment of an arbitrator.

Sk
mwwl\ o3 Je &, T, OO0 WROA.

D [*3} - =

What is arbitration agreement ? Bring out the differences
between an arbitration agreement and an arbitration clause.

?Dw nﬁ TOO0D 0T ? md/‘.ﬁﬁ .{oplew! \.&NJ mw '\:3 020

\.T),,x = L P
VT 0BRNTY)

~

Write short notes on :

- - G, N c
A0S L3Ted LTWD
t s

Arbitration Award.
53 mu \ v:;)f'_.
OR/e&5s

Interim measures.
cT’DCjO o} ﬁj)r 160.

UNIT = 1Il
s - Il

Describe briefly the powers and duties of a conciliation

Narrate the role of a conciliator.

)
AOTONTITN w./vd .)\./ QRO




TR T : 0416/0816

(b) Write short notes on : Marks : 3

)

RS 83363 oD

et w
Conciliation under Industrial Disputes Act.
EMo0T Qe faai,;om@ ROTRS.

OR/ez=

Conciliation under Family Court Act.

BRIV T, 03RO FIONODR FoTa.

UNIT -1V

PRE-IV

Explain the different approaches to negotiation.,

Narrate the qualities and skills of a negotiator.

BROROTTTOI o ) ﬁé@ﬂ%ﬂi DO,

Write short notes on :

Essentials of negotiation.
BITRT 0T, 0T,
OR/eam=s

Power to negotiate.

BRI SNET 08T,
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UNIT-V
puE-V

Q. No. 5.(a) Whatis mediation ? Narrate the qualities of a mediator. Marks : 9
iu A O% Q0BT ? ﬁJw de'ﬁ NOLNT 3

OR/&g

Explain modes and models of mediation.

RGAMOIeD Fwonh 28y Inconds SO

(b) Write short notes on :
:ﬂo@’ éﬁ;}* 200000 :
Preparation for mediation.
mdjxwm@ﬁﬁ 303%0.

OR/ege

Stages of mediation.
c:f#m@éoo TOBNEL.




